O« UNPROFESOR

Soluciones de dominios de funciones irracionales

Ejercicio 3 resuelto

Calcular el dominio de las funciones radicales:

El fGO=3® -5%x + 6

El }{2—5}{}{+6

D=R-{2,3}

Ejercicio 4 resuelto

Calcular el dominio de las funciones radicales:

Elf(}{) =+-X+2
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—X+220 D = (o, 2]

Elf(}{)=\.’}{2 -6X+8

¥ —-O6X+8=20 D = (—0, 2] UJ[4,0)

Elf(x):J—xz +6X -8

¥ +6X-820 D=[2,4]
E| f(x) =% +4x+4

(x+2F 20 D=R
6] FO) =& +x+4

¥ +x+420 D=RE

f(}{):{—}{z —-4x -4

—(%x+2¥ =20 D=-2

f(}{):J}{z -5% + 6

X2 -5x+620 D = (—0, 2] U[ 3, )

|E| f(3) =3 — 43? +3x%
XK(GE —4x+3)=20 ®K(X-—1Ux-3)=0
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D =[0,1]U[3,)

10

¥—25

100= 5=

X-20 D=(2,m)

11

|

12

{x

O

13

}{Z

14

f(x):‘h{_Z

¥—5

x-520 D=E-{5)

X-230 D =[2,) D =[2,5)U(5,®)

-OX+ 0O
X +4

T L

?-5x+620 (~o,2 | U[3, o)

Xx+4=0 w4

=(-m,—4)u[—4,2]u[3,m)
fGO) = ¥+
N -5%+ 6
-5% + 6 >0 D =(—0,2)J(3,)

X+4
f(x)_\’xz “5x+ 6

®+4

w -5+ 6

>0 D =[-4,2)U(3,)
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